

b) On a :

$$\begin{aligned} b_n &= \frac{\ln(n + e^n)}{n} \\ &= \frac{\ln\left(e^n\left(\frac{n}{e^n} + 1\right)\right)}{n} \\ &= \frac{\ln(e^n) + \ln\left(1 + \frac{n}{e^n}\right)}{n} \\ &= \frac{n + \ln\left(1 + \frac{n}{e^n}\right)}{n} \\ &= 1 + \frac{\ln\left(1 + \frac{n}{e^n}\right)}{n} \end{aligned}$$

Or $\frac{n}{e^n} \rightarrow 0$ par croissances comparées et donc par composition $\ln\left(1 + \frac{n}{e^n}\right) \rightarrow \ln(1) = 0$.

Et donc, par TOC, $b_n \rightarrow 1$.

c) On a par croissances comparées et quotients d'équivalents :

$$c_n \sim \frac{-n^2}{e^n}$$

De plus $n^2 \ll e^n$ donc $c_n \rightarrow 0$.